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dst = cv2.adaptiveThreshold(src, maxValue, adaptiveMethod, thresholdType, blockSize, C)

// src: Source 8-bit single-channel image

// maxValue: Non-zero value assigned to the pixels for which the condition is satisfied
// adaptiveMethod: Adaptive thresholding algorithm to use

// thresholdType:

(MEAN or GAUSSTIAN)
Thresholding type that must be either THRESH_BINARY or THRESH_BINARY_INV
// blockSize:

Size of a pixel neighborhood that is used to calculate a threshold value
// C: Constant subtracted from the mean or weighted mean
// dst:

Destination image of the same size and the same type as src
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// Finding the connected component containing an
object pixel p

1. Initialize
1. Create a result set S that contains only p

2. Create a Visited flag at each pixel, and
set it to be False except for p

3. Initialize a queue (or stack) Q that
contains only p.

2. Repeat until Q is empty:
1. Pop a pixel x from Q.

Yy

S ={(13)}
Q =1{(1,3)}
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// Finding the connected component containing an
object pixel p

1. Initialize
1. Create a result set S that contains only p

2. Create a Visited flag at each pixel, and
set it to be False except for p

3. Initialize a queue (or stack) Q that
contains only p.

2. Repeat until Q is empty:
1. Pop a pixel x from Q.

2. For each unvisited object pixel y
connected to x, add y to S, set its flag
to be visited, and push y to Q.
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// Finding the connected component containing an
object pixel p

1. Initialize
1. Create a result set S that contains only p

2. Create a Visited flag at each pixel, and
set it to be False except for p

3. Initialize a queue (or stack) Q that
contains only p.

2. Repeat until Q is empty:
1. Pop a pixel x from Q.

2. For each unvisited object pixel y
connected to x, add y to S, set its flag
to be visited, and push y to Q.

3. Output S
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// Finding the connected component containing an
object pixel p

1. Initialize
1. Create a result set S that contains only p

2. Create a Visited flag at each pixel, and
set it to be False except for p

3. Initialize a queue (or stack) Q that
contains only p.

2. Repeat until Q is empty:
1. Pop a pixel x from Q.

2. For each unvisited object pixel y
connected to x, add y to S, set its flag
to be visited, and push y to Q.

3. Output S
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// Finding the connected component containing an
object pixel p

1. Initialize
1. Create a result set S that contains only p

2. Create a Visited flag at each pixel, and
set it to be False except for p

3. Initialize a queue (or stack) Q that
contains only p.

2. Repeat until Q is empty:
1. Pop a pixel x from Q. .

2. For each unvisited object pixel y
connected to x, add y to S, set its flag
to be visited, and push y to Q.

3. Output S
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